

## **JUNE 22, 2022 HEARINGS**

**ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**vs**

**JASON VANDERHOOF**

### **ORDER**

The Committee voted unanimously that JASON VANDERHOOF shall pay a civil penalty of \$400 per day for 150 days of activity for a total of \$60,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JASON VANDERHOOF to prevent them from performing work in violation. JASON VANDERHOOF shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

**ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**vs**

**JKV, INC.**

### **ORDER**

The Committee voted unanimously that JKV, INC. shall pay a civil penalty of \$400 per day for 30 days of activity for a total of \$12,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JKV, INC. to prevent them from performing work in violation. JKV, INC. shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

**ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**VS**

**TONY COFFMAN, D/B/A T C & C CONSTRUCTION LLC**

**ORDER**

The Committee voted unanimously that TONY COFFMAN, d/b/a T C & C CONSTRUCTION LLC shall pay a civil penalty of \$400 per day for 38 days of activity for a total of \$15,200 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against TONY COFFMAN, d/b/a T C & C CONSTRUCTION LLC to prevent them from performing work in violation. TONY COFFMAN, d/b/a T C & C CONSTRUCTION LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

**ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**VS**

**JASON LONG, D/B/A POOL PRO OF ARKANSAS**

**ORDER**

The Committee voted unanimously that JASON LONG, d/b/a POOL PRO OF ARKANSAS shall pay a civil penalty of \$400 per day for 465 days of activity for a total of \$186,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. This violation does violate the terms of the previous settlement agreement on the Pomtree project in February 2022 and the full amount of that penalty is due. However, this penalty shall be reduced to \$1,000 and the amount due under the terms of the previous settlement agreement will not be escalated provided JASON LONG, d/b/a POOL PRO OF ARKANSAS returns the deposit of all homeowners within 60 days of the date of the order. The Committee further ordered that a cease and desist order be issued against JASON LONG, d/b/a POOL PRO OF ARKANSAS to prevent them from performing work in violation. JASON LONG, d/b/a POOL PRO OF ARKANSAS shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

**ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**VS**

**JOSEPH ROSHTO, D/B/A STICKS AND STONES FENCING**

**ORDER**

The Committee voted unanimously that the license of JOSEPH ROSHTO, d/b/a STICKS AND STONES FENCING is revoked for misconduct. JOSEPH ROSHTO, d/b/a STICKS AND STONES FENCING shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

**ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**vs**

**ANTONIO FLOWERS, D/B/A FLOWERS AND SON LAWN EXPRESS SERVICES**

**ORDER**

The Committee voted unanimously that ANTONIO FLOWERS, d/b/a FLOWERS AND SON LAWN EXPRESS SERVICES shall pay a civil penalty of \$400 per day for 22 days of activity for a total of \$8,800 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ANTONIO FLOWERS, d/b/a FLOWERS AND SON LAWN EXPRESS SERVICES to prevent them from performing work in violation. ANTONIO FLOWERS, d/b/a FLOWERS AND SON LAWN EXPRESS SERVICES shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

**ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**vs**

**GUZMAN CATALAN**

**ORDER**

The Committee voted unanimously that GUZMAN CATALAN shall pay a civil penalty of \$400 per day for 10 days activity for a total of \$4,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against GUZMAN CATALAN to prevent

them from performing work in violation. GUZMAN CATALAN shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

## **ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE**

**vs**

**JAIME LARA, d/b/a JAIME LARA, INC. and ARKANSAS CUSTOM POLE BARNS**

### **ORDER**

The Committee voted unanimously that JAIME LARA, d/b/a JAIME LARA, INC., and ARKANSAS CUSTOM POLE BARNS shall pay a civil penalty of \$400 per day for 42 days of activity for a total of \$16,800 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against JAIME LARA, d/b/a JAIME LARA, INC., and ARKANSAS CUSTOM POLE BARNS to prevent them from performing work in violation. JAIME LARA, d/b/a JAIME LARA, INC., and ARKANSAS CUSTOM POLE BARNS shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

### **SETTLEMENT AGREEMENTS**

50716 TIMS CONCRETE FINISHING LLC      \$2,800.00 reduced to \$200.00 if no further violations for 3 years, pay any judgment, pay as agreed

47301 ROBERT WALLACE DBA - WALLACE REMODELING & ELECTRICAL  
\$500.00

51415 FATHEAD CONSTRUCTION LLC      \$1,600.00 reduced to \$200.00 if no further violations for 3 years and pay this penalty as agreed

51416 DERRICK CRISWELL      \$1,500.00 reduced to \$750.00 if no further violations for 3 years and pay this penalty as agreed